



Republic of the Philippines VISAYAS STATE UNIVERSITY

Visca, Baybay City, Leyte

PURCHASE REQUEST

PPMP No.: **PPMP-2025-092724-0687**

PR No.: STF-2024-10-02472

Date: 10-08-2024

Dept./Office: ULC

Maagan Law A Ameta

Category: Office Equipment

Section/End-User: Maegan Lou A. Aruta

Funding Source: Special Trust Fund

Project Title/Code: ULC-2025-STF-Office Supplies and

Equipment

Item #	Item Description	Unit	Qty	Unit Cost	PAR/ICS	Total Cost
1	3 Ton Floor-Mounted Split Type Inverter Aircon	piece	3	150,000.00	VICENTE A. GILOS	450,000.00

Specification:

Power Supply:

1 PH / 230 V / 60 Hz

Nominal Capacity:

4.0 HP / 3 TR

Cooling Capacity:

38,201 kJ/h

Rated Current:

14 A

Rated Power:

3,200 W

Energy Efficiency Ratio (EER):

11.9 kJ/h-W

Refrigerant:

Type: R-410A Charge: 2,500 g

Copper Tube Size:

Low Side: 3/4"High Side: 1/2"

Warranty

- 1 Year on Parts and Service
- . 5 Years on Compressor
- Free Installation and accessories included

	_						
1	2	CCTV Camera	unit	5	4,000.00	VICENTE A. GILOS	20,000.00

Specification:

Specification:

- Dome Type Camera PoE+ IP Camera
- 4 megapixels
- Must be compatible with existing Hikvsion NVR

3 Computer Printer 3-in-1

unit

1

12,500.00

VICENTE A. GILOS

12,500,00

Specification:

- Printer Type: 3-in-1 (Print, Scan, Copy)
- Ink System: CIS (Continuous Ink Supply) filled with inks
- Design: Compact integrated tank
- · Features:
 - o High yield ink bottles
 - o Spill-free, error-free refilling
- · Connectivity: Wi-Fi, Wi-Fi Direct
- Borderless Printing: Up to 4R

4	Computer/Network Server	unit	1	400,000.00	VICENTE A. GILOS	400,000.00	

Specification:

Form Factor/Height:

o 1U rack server

· Processor:

- o 2x 5th Gen Intel® Xeon® Scalable processors
- Up to 64 cores and 350W TDP

• Drive Bays:

- o 1TB 12x 2.5" Installed (NAS Hard Drive)
- Front: Up to 4x 3.5" / 10x 2.5" / 16x EDSFF E1.short hot-swap drives
- ° Rear: 2x 2.5" 7mm SATA/NVMe hot-swap boot drives (support RAID)
- Internal: Installed 2x M.2 SATA/NVMe boot drives (support RAID)

Storage Support:

o Direct NVMe, VROC/VMD, and onboard SATA with SW RAID (0, 1, 5, 10)

• Memory:

- o 64GB Installed
- Supports up to 32x TruDDR5 3DS/RDIMMs

Expansion Slots:

- o Up to 5x PCIe 4.0/5.0 slots
- o 1x OCP 3.0 slot
- 1x cabled internal HBA/RAID adapter (doesn't occupy a standard PCIe slot)

• GPUs:

o Up to 3x single-width 75W GPUs

Network Interface:

- 4 ports Gigabit Ethernet LOM adapter (installed in OCP 3.0 slot)
- Optional front access networking PCle adapters

· Ports:

o Front:

- 1x USB 3.1 G1
- 1x USB 2.0 for BMC

- 1x VGA
- 1x external diagnostics handset port
- · Rear:
 - 3x USB 3.0 G1
 - 1x VGA
 - 1x 1GbE RJ45 (management)
 - 2nd 1GbE management port
 - 1x Serial port
- HBA/RAID Support:
 - o SATA with SW RAID (0, 1, 5, 10)
 - Standard and internal PCIe RAID/HBA adapters
- Power Supply:
 - o Dual Redundant AC & DC (Platinum & Titanium)
 - $^{\circ}\,$ 750W, 1100W, 1800W, and 1100W -48V DC Platinum options
- Systems Management:
 - Lenovo XClarity Controller (compatible with existing server fleet)
- Operating System:
 - o Microsoft Windows Server 2022 Datacenter (Genuine Installed)
- Warranty:
 - 1-year and 3-year customer replaceable unit and onsite service
 - Next business day 9x5 service
 - o Optional service upgrades available

5	Desktop Computer (i5, 11th Gen)	unit	6	60,000.00	VICENTE A. GILOS	360,000.00
-		LIESTING TO SERVICE STATE OF THE PARTY OF TH				000,000.00

Specification:

- Processor: Intel Core i5-11500 or higher
- Motherboard: Intel H510M S2H (6+2 Phases Digital VRM, Anti-sulfur resistors, LGA 1200, Micro-ATX, PCIe 4.0, USB 3.2 Gen) or higher
- Memory: 16GB (2x8) DDR4 or higher
 - SSD: 500GB NVMe M.2 or higher
- Optical Drive: DVD-RW
- · Casing: Includes 700W PSU
- Monitor: 23" IPS FHD
- Operating System: Genuine Windows 10 Home (OEM)
- · Peripherals: Keyboard and mouse combo
- Power Protection: 500W IC controlled AVR
- Audio: Stereo speakers

6 Desktop Computer, All-In-One (AIO), 21.5" IPS	45,000.00	VICENTE A. GILOS	450,000.00
---	-----------	------------------	------------

Specification:

- Processor: Intel Core i3-1005G1 (2 cores / 4 threads, 1.2 GHz base, up to 3.4 GHz, 4MB cache) or higher
- · Graphics: Integrated Intel UHD Graphics
- · Chipset: Intel SoC Platform
- Memory:
 - o Slot Configuration: 1x 8GB SO-DIMM DDR4-3200
 - o Memory Slots: Two DDR4 SO-DIMM slots, dual-channel capable
 - Max Memory: Up to 16GB DDR4-3200

- Storage: 512GB SSD M.2 2280 PCIe 3.0 NVMe
- Display: 21.5" FHD (1920x1080) IPS, 250 nits brightness
- Touchscreen: None
- · Keyboard: Calliope Wireless Keyboard
- Mouse: Calliope Wireless Mouse
- Expansion Slots: Two M.2 slots (one for WLAN, one for SSD)
- Ethernet: Integrated 100/1000M
- WLAN + Bluetooth: 11ax, 2x2 + BT5.0
- · Rear Ports:
 - o 1x Power connector
 - o 1x HDMI 1.4 out
 - o 1x Ethernet (RJ-45)
 - o 2x USB 2.0
 - o 1x USB 3.1 Gen 1
- Left Ports:
 - o 1x Headphone / Microphone combo jack (3.5mm)
 - o 1x Card reader
 - o 1x USB 3.1 Gen 1

_						
7	Ink, Epson 003,Genuine Black 65mL	btl	10	350.00	VICENTE A. GILOS	3,500.00
8	Ink, EPSON 003,Genuine Cyan 65mL	bti	10	350.00	VICENTE A. GILOS	3,500.00
9	Ink, EPSON 003,Genuine Magenta 65mL	btl	10	350.00	VICENTE A. GILOS	3,500.00
10	Ink, EPSON 003,Genuine Yellow 65mL	btl	10	350.00	VICENTE A, GILOS	3,500.00
11	Ink, Epson, genuine (C) T664, 70 ml	pieces	6	350.00	VICENTE A. ĠILOS	2,100.00
12	Ink, Epson, genuine (M) T664, 70 ml	pieces	6	350.00	VICENTE A. GILOS	2,100.00
13	Ink, Epson, genuine, (BK) T664, 70 ml	pieces	6	350.00	VICENTE A. GILOS	2,100.00
14	Ink, Epson, genuine, (Y) T664, 70 ml	pieces	6	350.00	VICENTE A. GILOS	2,100.00
15	Plastic Barcode Protectors	pcs	4200	1.50	VICENTE A. GILOS	6,300.00

Specification:

Plastic Barcode Protectors must be compatible with the barcode label size.

Pre-printed Barcode Labels. Ranges: Start 028501 - End 033500	pcs	4200	4.00	VICENTE A. GILOS	16,800.00
---	-----	------	------	------------------	-----------

Specification:

Barcode label size and standards must be compatible with the existing barcode labels and readers

17	RFID System tags	pcs	4200	30.00	VICENTE A. GILOS	126,000.00

Specifica	ition:			9		***	
The RFII	D tags must be compatible wi	ith the Dest	tiny Library M	anagement System.			
18 UPS 800	W (for Computer)	unit	2	5,000.00	VICENTE A.	GILOS	10,000.00
Specifica	ition:						,
?Chargin	ng time: At most 4 hours						
	TOTAL					1,	874,000.00
Purpose: ULC	C-2025-STF-Office Supplies	s and Equip	oment	3			
Checked by:	2	>	·	Funds Availat	ple:	·	
7	NORMAN O. VIL	LAS			ALICIAN	FLORES 0/	
	TWG - Office Equip	oment		10	HEAD, BUD	-	
	Prepared by:		Noted by:			oproved by:	
Signature:	Amblyn			H#55	Service Control of the Control of th	N July	
Printed Name:	MAEGAN LOU A AF	₹UTA		VICENTE A. GILOS		PROSE IVY	. YEPES
Designation:	V		LINIT	JEAD DOO JECT LE	ADED	DDEOIDEL	